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RUN=1, EVENT=144, SECTOR=10
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RUN=1, EVENT=187, SECTOR=3 E,=26.9 GeV, subsector=3, etabin=1
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RUN=1, EVENT=398, SECTOR=8

E,=30.2 GeV, subsector=2, etabin=4

0.06

0.05

0.04

0.03

0.02

0.01

60

u-strip

0.07

0.06

0.05

0.04

0.03

0.02

0.01

65 70 75 80 85 90 95

100

v-strip




RUN=1, EVENT=403, SECTOR=6
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RUN=1, EVENT=431, SECTOR=10
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RUN=1, EVENT=458, SECTOR=6
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RUN=1, EVENT=547, SECTOR=8
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RUN=1, EVENT=735, SECTOR=3

E,=17.8 GeV, subsector=2, etabin=7

0.05

0.04

0.03

0.02

0.01

130 135 140 145 150 155 160 165

u-strip

0.05

0.04

0.03

0.02

0.01

0
110 115 120 125 130 135 140 145 150

v-strip



RUN=1, EVENT=739, SECTOR=9

o E[GeV]

0.04

0.03

0.02

0.01

E,=13.8 GeV, subsector=1, etabin=10

_Illlllllllglll

145 150 155 160 165 170 175 180

u-strip

o E[GeV]

0.04

0.03

0.02

0.01

_Illlllllﬁlll

190 195 200 205 210

215 220 225

v-strip



RUN=1, EVENT=746, SECTOR=9

Ey:31.2 GeV, subsector=4, etabin=5

0.06

0.05

0.04

0.03

0.02

0.01

0 i

110 115 120 125 130 135 140 145

u-strip

0.06

0.05

0.04

0.03

0.02

0.01

0 ||||||||,.J|n||

45 50 55 60 65 70

v-strip
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RUN=1, EVENT=1682, SECTOR=4
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RUN=1, EVENT=1751, SECTOR=11
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RUN=1, EVENT=1756, SECTOR=6 E,=23.2 GeV, subsector=1, etabin=7
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RUN=1, EVENT=1792, SECTOR=3
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RUN=1, EVENT=1794, SECTOR=6
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RUN=1, EVENT=1799, SECTOR=0

E [GeV]
&

0.05

0.04

0.03

0.02

0.01

190 195 200 205 210 215 220 225

u-strip

Ey:25.1 GeV, subsector=3, etabin=9

E [GeV]
>

0.05

0.04

0.03

0.02

0.01

0

|||||||Iz=-@|||

I|IIII|IIII|_III

125 130 135 140 145 150 155 160

v-strip




RUN=1, EVENT=1800, SECTOR=2
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RUN=1, EVENT=1807, SECTOR=10
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RUN=1, EVENT=1841, SECTOR=2
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RUN=1, EVENT=1857, SECTOR=0 E,=17.5 GeV, subsector=3, etabin=11
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RUN=1, EVENT=1989, SECTOR=10
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